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emitter

terminal function

a Colpitts =a Colpitts oscillator ~ a whetstone = a whetstone bridge  Hertz

= BlEERIE LR

green

green

““I tested the diode”” ““The diode was tested””

““We now add an inductance in series with the

004

capacitance”” ““Now add an inductance in series with the capacitance”
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1. wy3a b A 233 3L

characteristic

Capacitors are devices, the principal characteristic of which is capacitance.

Characteristic curves of a transistor can be measured.

characteristic

2. ARAEET LH F LIS

power
The third power of 2 is equal to 8.
2 8
The power subsystem can provide a maximum current of 10A.
10
Voltage times current gives power.
3. LB AEEF
{51 1: How far can a radio signal be sent
sent send “ 72
send
f5l 2: This circuit will avoid distortion.
this < 77 will “< 77 distortion “
thiS (X3 9 (X3 Y
Y (X3 > distortion s Y
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will

this  will
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distortion

4, AL EE

{51 1: These environmental contributors to the transistor usage must be considered.

contributor “ 7z

{51 2: These relatives of transistors are also widely used.

relative

foreign materials

=, BWRICHAR AR

multimedia internet telephone microcomputer hypertext infrared kilometer

2. mE%
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oscillator oscilloscope voltmeter amplifier
multimeter 5-fold electronics technology psychology
clockwise
3. Yk
modem (modulation + demodulation) , transceiver(transmitter + receiver )

4. HBFFELE

1
BASIC Beginner’s All-purpose Symbolic Instruction Code DOS (Disk Operation System)
TOEFL (Test Of English as a Foreign Language) NATO North Atlantic Treaty Organization
ROM (Read-Only Memory) RAM  Random Access Memory MOS  Metal-Oxide

Semi-conductor

radar Radio Direction And Ranging

TOEFL NATO DOS BASIC

2
BBC British Broadcasting Corporation USA United States of America PCM Pulse-Code
Modulation = ADP Automatic Data Processing
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CAD CAM WHO

3
e.m.f. =E.M.F. electro-motive force
if. =LF. intermediate frequency
e.g. =E.G. exempli gratia  for examples
i.e. =LE. id est
d.c.=D.C. direct current
a.c.=A.C. alternating current

2
ie. e.g.
a.c. =A.C. AC if =LF. IF
2

5. ®E*

1

corp=corp. =corporation tel=tel. =telephone

TV=television cm=centimeter

Rd=road Hz=Hertz

(122 6 GV PSS 703
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1. BHEkTHE

i 572 13 297
1794 325
1
27 27
138 138
1927 1927 1,927
321479 321479 321,479
12 345 678 12345 678 12,345,678
2
1 19
one 1 two 2 three 3 four 4 five 5 six 6 seven 7 eight 8§
nine 9 ten 10 eleven 11 twelve 12  thirteen 13  fourteen 14  fifteen 15

sixteen 16 seventeen 17  eighteen 18 nineteen 19
® 20

twenty 20 thirty 30 forty 40 fifty 50 sixty 60 seventy 70 eighty 80
ninety 90 one hundred 100 onethousand 1,000 one million 1,000,000 one billion

10° 10" one trillion 10" 10" one quadrillion 10"
one quintillion 10"

. 1 20

one two nineteen twenty
. 21 100

twenty-five 25  one hundred 100 ninety-eight 98  forty 40  seventy-one 71
. 101 1,000

and
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three hundred and thirteen-six 336  two hundred and one 201

hundred J& R 5T hw B 3 &, AR 248 X &k, % 4L, hundred /5 # and — A% 7T 4w,
fa “JL+IU” oA “OU” B, and RAEH % (e B E =4 ),

o 1 000
thousand

million billion thousand million

one thousand (,) seven hundred and twenty-three (1,723)
two thousand and forty-one (2,041)
two hundred and sixty-four thousand(,) three hundred and fifty-nine (264,359)

three hundred and seventy-four billion (,) two hundred and ninety-one million(,) one hundred
and four thousand (,) eight hundred and sixty-two 374,291,104,862 three hundred and

seventy-four thousand millionl (,) two hundred and ninety-one million (,) one hundred and four
thousand (,) eight hundred and sixty-two 374,291,104,862

3L % 45 hundred, thousand, million, billion #EZ B X, RITmEKE “s”,

10°
1, 000, 000, 000
one billion one thousand million

2. HEE KT &
1/4 3/7

1

1/4  one-fourth 6/17 six-seventeenths 3/4 three-fourths 4% four and five-eighths

7/4 seven-fourths 9/5 nine-fifths

E PR mofa pEOA%n T2 1 N, 28 #8X,

2 over
1/4 one over four 3/5 three over five 22/9 twenty-two over nine 79/87 seventy-nine

over eighty-seven 37 % thirty-seven and nine over eleven
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3. MM ERT R

point 0  zero naught oh 0.1: oh point one
naught point one  zero point one Zero 0
naught oh 0
0.975 zero point nine seven five .
11.846 eleven point eight four six .
9,176.438 nine thousand one hundred and seventy-six point four three eight .

Exercises

Pronounce the following maths expressions in English.
1.1/2 3/4 5/13 -9/13
2.0.67 8.026 43.312 0.05 -0.3

= BFRNRRBRTE

A B

1 X A
A B A B 6 A B 5
4
A is six times longer than B.
A is six times as long as B.
A is longer than B by six times.
The length of 4 is six times of that of B.
1 A B 1/6 A B 5/6

A W N =

4
A is six times shorter than B.
A is six times as short as B.
A is shorter than B by six times.
The length of 4 is one-sixth of that of B.
A A 4
A 1/4 3/4 3

A W N~

W
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1 A increased /decreased four times.
2 A increased /decreased to four times.
3 A increased /decreased by four times.

“ xx 77 3
4
“f xx 77 3
3 2
“ 77 > times
> > times
longer than > < times as long as more than by >>< times increase to ><>< times
increase ><>< times increase by >3 times > > times £ 7z
> > times “ 77
“ > X xx 77
2. X5k A
A4 B
A4 B 10

1 A is ten meters longer than B .

2 A is longer than B by ten meters .
A A 10

1 A increased (decreased) 10 meters .
2 A increased (decreased) by 10 meters .

3. B E e A

about or so

approximately over less than
about 50 50 50 or so 50  over37 37

ED sHhTnXRSHBNEA
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1. FHRAF AT
“ 77 ““first then and last””
““first the second the third the fourth 77
The first the circuit should be cleared then get the data ready and last a narrow-pulse

is given to the terminal “write”.
2. B JE] Ja) R A
= & EE N X3 E 4 = & a4 altemately

alternate
The two machines work alternately.
He comes here on alternate days.
The electronic beams scan the screen on alternate lines.
“ i every

He comes here every two days.
60 A minute-signal is given every sixty seconds. 59

cc > > >3 “every

<2

=, —HfTEXRRE

1. B e Rk
XX
Itis ><> long wide high deep
Itis ><>< inlength width height depth

in
The wire is 10 meters long.
The wire is 10 meters in length.
2. AR e E R A
1 50 50 meters away at left.
35 The car moves 35 meters in the (direction of ) southeast .

3 300 The campus is 300 meters long north and south .




BT EERAEIRIE

Exercises

Choose the best word for each blank.

1. This machine is 3 meters . (high, height)

2. The transformer is two meters .(in length, in long)

3. There is a broken transformer 50 meters away .(in left, at left)
4. Thiswireis __ (longer, longest) than that one by six times.

5. The (long, length) of the room is 2 times of this one.

=. ZHTEXRRIE

1. #&FEkik
“ 100 >z Its area

is 100 square meters.

It’s 3 by 5 meters. 5 3 ““by””
It’s 5 by 5 meters.  It’s 5 meters square. 5

It’s 5 meters square .
It’s 5 square meters .
“ 5 7’ 5 5x5=25m’
“ 5 7z square
square

2. YT EmITR KRG Ek

axis of abscissae

X-axis X

axis of ordinates

y-axis y

origin  of coordinates

positive direction

negative direction

value of the abscissae = the abscissae

value of ordinates = the ordinates

the coordinates X y

curve
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wave

maximum of the curve
minimum of the curve
point of inflection
point

line = plane curve
angle

right angle

acute angle

obtuse angle
corresponding angle
straight angle 180<

supplementary angle

complementary angle
axis of symmetry
figure

symmetrical figure

triangle

equilateral triangle
isoceles triangle
right-angled triangle
acute-angled triangle
obtuse-angled triangle
vertex

side

base

perpendicular

altitude

catheti

hypotenuse
quadrilateral

irregular quadrilateral
parallelogram

square

rectangle
rhombus=rhomb=lozenge
trapezoid

diagonal

polygon

regular polygon
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irregular polygon
circle

center
circumference
diameter

radius

arc

sector

ring = annulus concentric circles
characteristic curve
curve of relation

axis of time

3. D PmALE R A AT

A the upper/top left

B the upper central/middle
the top central/middle

C the upper/top right

D the middle/central left

E the central/middle
the mid-central

F the middle/central right

G the lower/bottom left

H the lower middle /central

the bottom middle/central
I the lower/bottom right

The unit of power supply is located at the upper left of the printted circuit board.

M., =#=EXFRRIE
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1. ®

HFFRIA
Its volume is 10 cubic meters.

2 000
The cubic content of the motor is 2 000 c.c..
cubic meter (s)

c.m(s) c.in(s)

C

cubic inch (es)

Bt
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10

cu.meter (s) cu.inch (es)

cm  cin
10 cubic meters 10 meters cubic 10
1 000 10
2. ZHEAMLE X R ATk
1 4 B
A B on above over across on
A B B A B A B
B
A is over/ above B.
A B over above above “
7 OVer = & 7
There is a lamp over the table.
above
above zero above sea-level above average
“ 7z over  across
Ais moving over/across B.
A B
The electric cables stretch over/across the fields.
A B B across over
I walked across the Tiananmen square.
2 A B
A B under below beneath underneath
beneath  underneath under  below
under  over below above under “ ”? below
A B

A is under/below B.
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A B under

There is a cat under the table.

below
below zero

below sea-level

below average

under

A boat is going under the bridge.

The electric cables stretch under the fields.

on on

There is a fly on the ceiling.

There is a picture on the wall.

The label is on the back surface of the table.

3 A B
““before”” ““in front of”” ““in the front of”” ““at the front of”” ““ahead”” ““ahead of”~
s & 77L& 77 “A B 7
““in front of”” ““in/at the front of”” ““before”” ““ahead””

There is a gate in front of the house.

There is a blackboard in/at the front of the classroom.

There is another village before this village. =There is another village ahead.

before  ahead “ ”
in front of “ 7 in front of  in/at the front
of ““4 B A B 7z ““4 B B
““4 B i ““ahead of””

He is running 50 meters ahead of me.
50

before
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We have described it before.

See examples given before.

4 A4 B
““4 B i ““behind””““in back of””““in the back of””““ atthe back
of”” in back of =at the back of =back of =behind “ 7z
““in front of””  ““in the back of”~ “ i ““in the front of”~

There is a park at the /in back of his house .

There is a map in the back of the classroom .

£ 7z ““on the back
of””
The switch is on the back of it .
“e 7z behind
He runs 50 meters behind me .
50
5
“ i ““on the left side of””““at the left side of””““to the left
side of”~ ““on/at the left side of”~ “

77 ““totheleft side of”~ “c i

He sits at/on the left side of me.

The office-building of the company is on/at the left side of the street .

You can find an icon for Word 97 on/at the left (side) of the screen.
Word 97

The current flowing to the left is larger than that to the right , so the net current flows to the left .

the first /second/third from/on the left
6
A B A B

A is in the east of B. A B A B
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A is on the east of B. A B A B
A is to the east of B. A B A B

Tianjin is in the east of China.
Tianjin is on the southeast of Beijing.
Tianjin is to the east of Gansu.

Exercises

Translate the following Chinese into English.
1

2
3
4
5

&) cuxiERPRAK. HiRR

—. SHFRIE

5 1: 5+3=8 Five plus three equals eight.
Five and three is eight.
Five plus three is equal to eight.

5 2: 3x2=6 Three multiplied by /times two equals/is equal to/gives six.
3. 9=3 The square root of nine is three.
4. Ys=2 The cubic root of eight equals two.
5+3=8 5 augend 3 addend 8 sum
addition
minuend subtrahend difference
remainder subtraction multiplicand multiplier
product multiplication dividend divisor quotient
remainder division
3 4 9 8 radical 3 2 index the

index of the root 3 2 value (of the root)




